J s a5

N\
o)
w

K

439E

1. Jlﬂ— bb‘é &wﬁb ..\&)i‘suu)lf 6‘50)39 G999 anjT

R R R R e R R R R e R R R A R R R AR R

€l oo FMol CSllow 300 ZMol 8L JE

s ‘
s pove '\/ (o) shun ol
YEISYIYA aV'd

olnl ool & a0
63908 5 Dl cesle o)l

238 i3gel i oyleslus

T T e T A T T R T R T,

| (VYYY 15) (535U o guwt 380 (cwiigo |

S A 3 R 3 5 S S S A S A R

LSl 55l 5 Slond « siloniol Sae Jgu

AR R R < e R R < R R A R R R A R R R AR R

oyleuds U | Syledt 31 | JV5we Dload el olae Ry
. 1 ¥ (owdSl) paais g ogus b) \
ad e A0 G 39laS slanile Y
A &% YA $329LaS Gapml jailso v
Yor A Y. Y Lol g 5kl f
¥Y 1+) \ woges ey &
\F. Ty Y. EXTEI s
T 1) vh 2855155 9 sai g0 4
AD 19§ Y. $309L8S WlislesT )b A
( 318 (Bi b iy g3 3] ) (W lone rlas (niilo nom1)

D0 3 5 Oy o il ARG U g il 0 Jmo bl (ot a0 b gl (B 9 g (R Lol 4 51 690 3T (B3I 0 Y ot (neg i ST gy 50 40 L T 5L g i il o




Y axin 439K OYYY uS) g5yslis ua.a.wb-u&n PR

ol (39031 Aaadsr 30 (bl jgua 3 Cund Ao dr oy )0l 50 Lasl g wiliasuiue (40 455 0yl ¢ o0l )5 ooliio

[P TES RCT - POV PRSP Ry P E g | I R — 310 85l b il |
CJ‘:‘ J).-..S oy ] &34 .LhJ‘B.uu d..‘a-).d.b C] d..DLIC.A.UL’ tSYL’ GLn.ub 4 09)3 n_i)Lf 6Yb ).b C)..L..n ‘:.Uosb oJLn...o lJ
mileson 9l 1y plasbzenly (ol 5 W lgw 2 183 g3 p oud

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

4-

5.

Growing older and more decrepit appeared to be an ---------- and necessary part of being
human.

1) inevitable 2) intangible 3) unforeseeable 4) unsentimental

I don’t really think I’d have the ---------- to finish a marathon!

1) concern 2) candor 3) endurance 4) autonomy

Her marriage started to improve once her husband finally ---------- he had an anger
problem and began to take counseling,

1) identified 2) emerged 3) hesitated 4) acknowledged
Society is an interdependent system that ---------- widespread cooperation to function,

1) proceeds 2) requires 3) fascinates 4) conveys

Our blue planet is a ---------- . Life depends on water, yet in its natural form, the water in
the oceans will not sustain us because we cannot drink salt water.

1) refuge 2) remedy 3) paradox 4) vacillation

I thought I was buying a/an ---------- native Indian carving, but discovered later that it
was machine-made.

1) genuine 2) definitive 3) secretive 4) artificial

The entrepreneur had a well-deserved reputation for ---------- , having accurately
anticipated many changes unforeseen by established business leaders.

1) modesty 2) hindsight 3) prescience 4) extroversion
Studies of longevity among turtles are sometimes ---------- by the fact that the subjects
live so long that researchers retire before the studies can be completed.

1) stabilized 2) hampered 3) diversified 4) verified

Kevlar is a ---------- new material which is used for everything from airplane wings, to
bullet-proof vests, to hockey sticks.

1) prescriptive 2) versatile 3) dormant 4) derivative

10- If exploitation of the planet’s resources continues as at present, then the lifestyle we

currently enjoy ---------- the risk of causing significant damage to the world.
1) proposes 2) puts 3) shapes 4) runs
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Scientists and philosophers have been grappling with the relationship between
language and thought for centuries. There have always been (11) ---------- that our
picture of the Universe depends on our native tongue. Since the 1960s, however,
Y the ascent of thinkers like Noam Chomsky, and a host of cognitive
scientists, (13) ---------- that linguistic differences don’t really matter, (14) ----------
language is a universal human trait, and that our ability to talk to one another owes
more to our shared genetics (15) -----—---—-- . But now the pendulum is beginning to
swing the other way as psychologists re-examine the question.

11- 1) that they argue 2) those who argue
3) an argument by those 4) arguing those who
12- 1) with 2) for 3) by 4)in
13- 1) whose consensus 2) who has the consensus
3) the consensus has been 4) 1s the consensus
14- 1)a 2) the 3) what 4) that
15- 1) and our cultures vary 2) than to our varying cultures
3) than our cultures that vary 4) as to our varying cultures

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Agricultural field machinery refers to the machines/implements that are basically
utilized in the farm for field operations; for instance, land clearing machines, tillage or
seed bed preparation machines, seed planting machines, fertilizer applicators,
mechanical weeding machines, sprayers for weed and pest controls, harvesting
machines, and transporting machines. These machines are powered by prime movers
and are used in the farm for agricultural field operations. Most of these machines are
fully mounted/hitched implements, semi-mounted implements, self-propelled or trailed
implements. Modern agricultural operation demands the application of these field
machinery and implements in different farm operations from field clearing to
harvesting operation. There are many land areas available in different agricultural
areas of the world, but not all the lands are suitable for crop production. However, in
order to make them economically feasible for agricultural production, different tillage
operations have to be conducted. The most important operations required include:
adequate seed bed preparation for seed planting, germination, proper growth of the
crop, mechanical weed control or application of herbicides/pesticides, fertilizer
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16-

17-

18-

19-

20-

application, harvesting and conveying the farm product to the final/designed
destination. One of the basic considerations in selecting tillage machinery is its size.
The size of implement and the speed of operation should be matched to machine size
in order to improve the field performance of the machine. The selection of tillage
machinery for seedbed preparation and weed control depends on soil type/condition,
crop type, previous soil treatments, crop residues, and type of weed. The performances
of farm machinery are conversely influenced by different factors. These factors
include the power units, machine/implements condition, operational speed, nature of
field, crop type, weather condition, soil type/condition, and system management. Field
capacity of a machine/implement depends upon the working speed. Infield operation
speed may be influenced by various factors including machine overloading and poor
steering operation.

According to the passage, all the following statements are true EXCEPT ---------- :

1) Agricultural field machinery refers to the implements that are applied in farms for
field operations.

2) The size of implement and the speed of operation should be matched to machine size.

3) Infield operation speed can be affected by different variables such as poor steering
operation.

4) Modern agricultural machines and implements are not generally applied for field
clearing.

According to the passage, all the followings are examples of agricultural field machinery

EXCEPT ---------- .

1) transporting machines, sprayers for weed and pest controls, and harvesting machines

2) transporting machines, machine overloading, and sprayers for weed and pest controls

3) mechanical weeding machines, seed planting machines, and harvesting machines

4) tillage or seed bed preparation machines, mechanical weeding machines, and seed
planting machines

According to the passage, the selection of tillage machinery for seedbed preparation and

weed control depends on all the followings EXCEPT ---------- "

1) type of weed and prime movers

2) soil condition and previous soil treatments

3) soil type and crop type

4) crop type and crop residues

According to the passage, the performances of farm machinery are conversely

influenced by all the following factors EXCEPT ---------- :

1) power units, operational speed, and nature of field

2) machine/implements condition, weather condition, and soil type/condition

3) crop type, soil type/condition, and system management

4) nature of field, weather condition, and fertilizer application

The word ‘them’ in the passage (underlined) refers to ---------- 5

1) farm operations 2) the lands

3) agricultural areas 4) land areas
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21-

22-

PASSAGE 2:

Agricultural mechanization is the key basis for speeding up the modernization of
agriculture and rural areas. Agricultural mechanization has also significantly increased
agricultural productivity. In general, a farmer may employ agricultural machinery to
replace manual labor when the household labor endowment is given. During the past
four decades, one of the most typical characteristics of rural development has been the
flow of rural labor force between rural and urban areas. The continuous development
of non-agricultural industries in the urban areas formed a huge demand for labor force,
which absorbed the surplus labor force from rural areas. However, an increasingly
large number of rural-urban migrants has actively or passively returned to their
hometown due to various inducements. Compared with the non-migrants, the return
migrants with rural-urban migration experience have many different characteristics,
and thus, their engagement in agriculture may alter agricultural labor force structure
and further influence agricultural production. While rural-urban migration and its
impact have attracted much attention, very few studies, if any, have analyzed the
impact of return migrants’ rural-urban migration experience on agricultural
production. Nevertheless, it should be noted that many scholars have analyzed the
determinants of farmers’ agricultural machinery expenditure. From an individual
perspective, the changes in relative prices of production may alter farmers’ agricultural
machinery expenditure. Moreover, land characteristics are also important factors that
influence agricultural machinery expenditure. However, whether and how rural-urban
migration experience influences agricultural production, especially agricultural
machinery expenditure, remains unclear. A number of unexplored variables have been
proposed in this regard.

According to the passage, all the following statements are true EXCEPT ---------- 5

1) The return migrants with rural-urban migration experience may alter agricultural
labor force structure.

2) Whether and how rural-urban migration experience influences agricultural
production is unclear.

3) Several researchers have focused on the impact of return migrants’ rural-urban
migration experience on agricultural production.

4) A farmer may employ agricultural machinery to replace manual labor when the
household labor endowment is given.

The passage probably continues with a sentence about ---------- =
1) creating a balance between rural and urban areas through the migration of labor
force

2) the variables that describe the impact of rural-urban migration experience on
agricultural production

3) the direct influence of agricultural land characteristics on modern agricultural
mechanization

4) speeding up the modernization of agriculture and rural areas by means of
agricultural mechanization
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23-

24-

25-

26-

What is the main purpose of this passage?

1) To explain about agricultural mechanization as the basis for agricultural modernization
2) To explain about the agricultural labor force structure throughout history

3) To explain about the effect of migration on agricultural mechanization and production
4) To explain about the return migrants’ rural-urban migration experience

The word ‘inducement’ in the passage (underlined) is closest in meaning to ---------- !
1) incentive 2) incidence 3) inception 4) increment
The word ‘expenditure’ in the passage (underlined) is closest in meaning to ---------- g
1) outlay 2) inactivity 3) income 4) outperform
PASSAGE 3:

Tractor roll-over is the most frequent type of accident in the agricultural sector. The
roll-over protective structures (ROPS) are mechanical structures fitted on agricultural
tractors. Together with a driver’s retention system, the seat-belt, they avoid or limit the
risks to the driver resulting from roll-over of the vehicle during normal use. Proving to
be effective measures to prevent injuries during tractor roll-over, ROPS are
mandatorily fitted on tractors in many countries. Foldable two-post ROPS (FROPS)
have been designed to facilitate tractor operation in low overhead clearance zones.
FROPS are often fitted on narrow tractors. Two different categories of narrow tractors
are internationally recognized under ROPS safety and health regulation requirements:
tractors with ROPS mounted on the front of the driving station, with a maximum
permitted unladen mass of 3500 kg, and ROPS fitted on the back of the driver’s seat,
without any unladen mass upper limit, unless they have a reversible driver’s position
or reversible seat and steering wheel. FROPS are also applied on bigger and higher
power standard tractors when manufacturers need to curb the cost, in markets with
limited economic possibilities, or on entry-level models. In these cases, the foldable
roll-bars are adopted to reduce space during transport and storage at the dealers’ and
farmers’ facilities. Generally, the FROPS comprises two lower steel components, one
for each side of the tractor, mounted in front of or on the back of the driving seat, and
an upper inverted U-shaped folding steel tube. The lower and upper parts are joined at
a pivot point by a couple of pins on each side of the protective structure, making it
possible to fold the upper part frontward or rearward, based on the FROPS type. The
folding operation is generally manual, even though some dimensions and mass of the
components may overcome the human handling capacity. FROPS, as all ROPS, are
designed to absorb the energy developed by the contact with the ground in case of
overturn, yet they have certain constraints.

According to the passage, all the following statements are true EXCEPT ---------- i

1) The ROPS and the seat-belt reduce the risk to the driver resulting from roll-over of
the vehicle during normal use.

2) Foldable two-post ROPS have been designed to facilitate tractor operation in low
overhead clearance zones.

3) FROPS can be used on bigger and higher power standard tractors in markets with
limited economic possibilities.

4) The folding operation i1s machine-driven, since mass of the components may
overcome the human handling capacity.
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27-  What is the main purpose of this passage?
1) To explain about the structure of narrow tractors
2) To explain about ROPS in general and FROPS in particular
3) To explain about tractor roll-over as a frequent type of accident
4) To explain about the structure of agricultural tractors

28- The passage probably continues with a sentence about ---------- .
1) specific limitations of FROPS 2) higher power standard tractors
3) accidents in the agricultural sector 4) lower steel components of FROPS
29- The word ‘measure’ in the passage (underlined) is closest in meaning to ---------- :
1) transient 2) gradient 3) expedient 4) excipient
30- The word ‘regulation’ in the passage (underlined) is closest in meaning to ---------- .
1) scute 2) involute 3) tribute 4) statute
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